7/% U A m CS408 - Human Computer Interaction

Question 1: Which of the following will result in using proper contrast?

Visual patterns that users register and remember

Provides a gross means of indicating the most important elements in an interface's visual
hierarchy

Provides a gross means of indicating the least important elements in an interface's visual
hierarchy

o All of the given

Question 2: Desktop applications fit into categories of posture.

Two
o Four

Five

Three

Question 3: Which one is not an input Controls?

checkboxes

@ tags

buttons
text fields

Question 4: is the process of selecting things to concentrate on, at a point in time,
from the range of possibilities available.

Perception and recognition
O Attention

Learning
None of these

Question 5: Which of the following is not one of the primary colors?

Red

O Yellow

Blue
Green

Question 6: Roughly percent of the male population has some degree of color
blindness.

& 10
20
30
40

Page 1 of 21


http://nvaeducation.com/quiz/vu/5104/which-of-the-following-will-result-in-using-proper-contrast
http://nvaeducation.com/quiz/vu/5105/desktop-applications-fit-into-categories-of-posture
http://nvaeducation.com/quiz/vu/5106/which-one-is-not-an-input-controls
http://nvaeducation.com/quiz/vu/5107/is-the-process-of-selecting-things-to-concentrate-on-at-a-point-in
http://nvaeducation.com/quiz/vu/5108/which-of-the-following-is-not-one-of-the-primary-colors
http://nvaeducation.com/quiz/vu/5109/roughly-percent-of-the-male-population-has-some-degree-of-color

